: 7
o
- 3z
—1 3 — 3,06 ] e I — - r
. e e e e ?75 x |
3,55 : = ;
2.50 2,87 3,70 50 2,81
al o
o = - 2 = ==1N
J B3 s 317 3 o
7 g 165 0,86 ST o
_ O/ s 2 8
: / / 1,85 o > ?d
m 1 Tﬁﬁa 0;
r'_; // [ - 3 — ] =
~ 298 2 [l ! i
= - 2
— |3 I bl 1 127 -
— v - 20 R e
’ 11,54 o
0 <
8 g VI ® @___ (XY . 3 &
m 3.10 Y 1,61
[ | | | l
09 o 3,04 olle 15° 1,61 1,57 < 3,94
S all@ -& " 1S o
gy = = 1 1B BN e 4 ™ BT 203
—— - — TE - o] ?
2,11 na ® 137 L~ & 95 ﬁ
-t 2 -
3,89 0,84 &
T i F’i ‘!c
- ' 054 © 6
M~ h‘s _17'_6 n
Q|| [ o n s ™~
2 «+ 175 _4 o N 3 © > 0 1o}
145 - 6,3 o 59 S 38 <
< ’
I 5
o 0,5 2,49 2,41
===
7 gl | o
3,16 2,97 alla 5 3,03 3,06
24 =||= BE
e | | 2,27 ||2,31 ——er re——|
T | D ——————, | T 1 2 [ T T

HeeTexkamMckum ewnnman

MocyaaPCTBEHHOE YHATAPHOE MPELNPUATHE
Boro TexHWUECKORM MHBEHTAPM3AUWMU

AHONNBCKUA TEPPUTOPWU@EbHLE YUOCTOK
Lty s

Uenonkmn o %';’/étt//f
Meoeepun ! M@
TexHMUepKOA WMHBEHTOPUSAUMA Mo coe}’oimm
Ha '0 2 0 f; 20 i




